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ADVANCE MICROPROCESSOR & MICROCONTROLLER

fuifa wwa . A wR) [otftreram 3T : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pz () FEHTE AT E, Sig 3@ frgl aia & FR G |
Note : Question No. 1 is compulsory, answer-any FIVE questions from the remaining.
(i) mm%mmﬁﬁm@mmﬁﬁ@ !
Solve all parts of a question consecutively together.
(iii) vRi% YT F1 7 98 @ RS Fiord | ;
Start each question on fresh page.
(iv) ﬁﬁwﬁimﬁ#aﬁ@ﬁﬁaﬁmzﬂm? /
Only English version is valid in case of difference in both the languages.

1. () 3IFWINAL, 40H Y T2fim Hie 1 W T |
Specify the name of addressing mode for the instruction IN AL, 40H.
(i) 8086 % WHa DT/R Hl % e |
Explain the function of DT/R signal of 8086.
(iii) 8259 F T e TR 1 A |
Explain the function of Interrupt Request Register of 8259.
(iv) 3R 8255 voﬁgﬁmﬁww%a’rwﬁimma«@@rﬁz 2 % T L Thd
g1
In 8255 for /O mode of operation, name the port which can operate in mode 2.
(v) 8088 % e wE b e 1 R ?
Specify number of bits in the data bus of 8088. (2%5)

2. (i) 8086 FIiteh TATIH BT e TS v gEeh) Wl fasaTd sared |
Draw the internal architecture of 8086 and describe its salient features.
Gi) /O ST TR wh & Hefud mm@@m@ﬁnﬁsﬂaﬁﬁw |
Explain instructions related to /O data transfer scheme. Also specify their

addressing modes. ‘ (6+6)
(10f2) P.T.O.
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3R AX = AOOOQ; CX = 0800 at F=1 Il < foraraem % @1g AX &1 HH SaT3d :
If AX = AOQO; CX = 0800, then state the value of AX after performing the following
instructions :

3.

)
(i)
(iii)
(iv)
®

Gi)
)
Gi
)
Gi)
0

(i)

MUL CX

DIV CL

ADD AX, CX

SUB AX, CX (3x4)

8253 %1 @UE HE ST TE A EUE 1 H TR |
Draw the block diagram of 8253 and explain the function of each block.

8257 %1 WIS TG TS T FEH! HrEUITE THAE |
Draw the block diagram of 8257 and explain its working. (6x2)

m@muomwﬁnﬁmmm;

Explain the differences between synchronous and asynchronous /O data transfer
scheme. :

Soft rer e fafy foram @ wmTER |

Explain serial data transfer scheme in detail. (6x2)

IEEE 488 e <l THNSd |

Explain IEEE 488 standard.

8051 HISshTeh-gIow Sl STdieh T g TR vE g st w1 avia Hifs |
Draw internal architecture of 8051 microcontroller and explain its features. (6x2)

e o T T e O 3g 8086 et e 3 s el |

Write an assembly language program for 8086 to generate first ten odd numbers.

8086 TTEHISRER # ©F % ¥ B 2 ? BF % I T g DX TR F
S w CX P ¥ i & Fee-aeet w3 ¥g dveh i s forfed |

What is the function of stack in 8086 microprocessors ? Write an assembly
language program to exchange the content of DX and CX register using stack. (6x2)

forr @ Tl 1wt wifiren feoaforart ferfier -

Write short notes on any two of the following :

o)
(ii)

(i)

8251 — (USART) — 4.W8.T.ARE.

8251 - USART

8253 st RS HigH

Operating modes of 8253

8086 31 Tl Toreet

Flag register of 8086 (6x2)



